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od the first-known | 1. <t B S ﬁﬁm?ﬁﬁ'ﬂ'ﬁmﬁm )
1. Johann Gutenberg devel'-:‘-ll; Which was the o Cd = oft ? t‘%ﬁ i
printing press in .Gerl;‘l; that press ? . i
first book he publishe 1) @ f
(1) The RepIJbﬁC % g rgec]
(2) The Bible 3) = shfesh
(3) The Odyssey @4 3T 1 1
(4) The Magna Caria : _
' it | 2 wmaﬁwmw%ﬁ@ﬁmm@%
2. What do we call the process through w-11;1 . ot FIF % TTEH TS Fl 2Afys T
bacterial and fungal enzymei o g srepralfeh el W rerhfte e € 2
s ~oreani tances ¢ .
detritus into simpler inorganic subs
(1) Catabolism | @) |
_ (2 EgEEE
(2) Humification )
_ (@) TEET
(3) Fragmentation ;
_ 4) Treem
(4) Leaching ot
3. Students’ and Teachers’ Holistic | 3. JIE@HH e < T W fernfaar oIR steqys
Advancement through Quality Education T FANOT el (Wﬁ%") ___®
(SARTHAQ) is an . |
(1) - Indicative and suggestive NEP (1) e o ok for et e i et
implementation plan for Higher ‘ RIEEET GED a’ﬁ'{ IRISCED
Education ' ' " ' :
() Indicative and suggestive NEP|  4z) ol foren s forn st e S st
implementation plan for School IS % e 3R Fregs
Education
(3 Indicative and suggestive NEP (3) R e ¥ forg gt Roen Af
o implementation plan for Technical T ST A 3R freas
Education fin |, o ' bEy, gavZ. ) :
9, Indicative and suggestive NEP | (4 fufiim faen & forg et foran Aif
lmplemel;‘ltlatwnl plan \ for Legal § : 3 s o
Education =~ - oA PR s TS _ g 5 b
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4. ' Accordin
2020, by gwtl_? the National Education Policy | 4.
Ratio in h{Ch Year the Gross Enrolment
.VocaﬁOnal ‘8hef " Education including
50% ? educag-:iﬁh is to be increased t
g Tumg
@) 2040 oy
™
i
@ 2035 el
o
(3) 2050 B
@ 2030
> the-2023 Women T20 World
(4) India
6. "Milpa’, ‘Roca’, ‘Ladang’ are different names

- of which of the f@i\ring 2

5.

6.

(1) Open-cast 1}1n1311g

@) .

(3) Rain waterggigresﬁng
(4) | Shifting cultivation
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4) Krishna B ‘attachary?d

g.  Assertion (A) :

ggﬁ#

Both India anifathe USA have blcame_lfal |

i E#—-”‘ o -

Reason (R) : _ ¢
s

The upper house af:the legislat'ure in both the

countries has an equal number of seats

reserved for different states.

Choose the correct answer from the codes

below :

1] E
Lllul"l

’-'5
B
= ';

(1) Both (A)?an

s

- (R) are correct

i[]..

(2) Neither (A ( r (R) is correct

iy
'-'1)\

il

l‘ ""xlﬁnn:: il‘

3) .(A) is-correct but (R) is wrong

iy,
1L \!1"& “di]."h

4 6 wron;
( ) (A)is wrong but (R) is correct

. anm
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N, . SRR 2 et faeereree

T (R) :

xﬁﬁ%ﬁuﬁm%wwﬁw~w

T % fer STRfe e <Rt e w W
ﬁmm'ﬁﬁ-ﬁﬁmgﬁq;
1) (A) R (R) I W& ¥l

(2) T (A) A (R) T €
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(4) (A)w%muwﬁ%l
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* 'As part of . ' 9. e (A) : 2
Budget, the C::tz Ilflajor reforms to Union ¥t ez B FS GUR Y <™t 3 w A
1 Febiitary fo tl“‘:f_lmcl,'c_,;et was advanced to T 2020 3 FSTE TR 6 THA H weedt -:;
Fof Fieidiscia] by 21(1;st time from the Budget Itz e T S Y i 1 e i
- Reason (R) ; . 20. T\
The advancem.. . - s RTUT (R) : :
doneto e?leib(;?;nt of Budget date has been TS YL o I e =5 Qﬁﬂ@w%
eyele: s o arly completion of the Budget fore T o @ g Feifa A T 1
Choose the coprecg a . - :
below \ nswer from the codes AR TR H @ el I g
- . . i Ll F L]
1) Both ' . . : ' i
. (e) . EXPIai(né) (:;d (R) are correct and (R) @), -(A) 3R (R) E‘T-?l w2 (R) a (8) it
(2) Neither (A) n sk & “ A 50 §-1“.€Eﬁ% \
G) (A)ise or (R) is correct ™ ) = (B) & (R) T zl
@ (@) > Comrect but (R) is wrong - (@) (A) ' ¥ g (R) e &
2 18 qung but (R) is correct _ Wy (A) T ® feg (R) FET R
gt | e
10.  Which of the following statement(s) is/are {:10. ‘Ifearwe 3iih g wie AR’ (aré.mmﬂ‘-m;)
correct about ‘Indis State of the Forest jy - ¥ 'si H-fr=ifipa & Q 9 w1/ oo wal 3/3 2
Report’ (ISFR) ? : »
. . v - - 4 Y N .
2 (A)  The first State of the Forest Report was (A) ueel B @i T wree e =d 1947 H
- published in 1947, , Hepierd g ot 1 _
(B) The report is based:on the biennial (B),~ 7 T U &= wderm (Th.aE.TE.)
assessment of India’s forests carried out BRI fohT Y AR A1 =i getae Jedish
by Forest Survey of India (FSI). T SATENRE § 1
(©) Based on the ISFR 2021 teport the total (C) STE.THTER & o¥ 2021 # {6 F
forest cover of-the country is 21.71% of SR YL & Fel Wi & &1 21.71%
———  the total geographical area of the SrEsTTed < | '
~  .country: _ :
(D) ~“The ISFR 2021 report-shows a decrease | (D) METATRIR. 2021 F Wi § fsar
_=~-— . of forest cover as compared to the AT i gor § Srestica & § o
previous assessment. _ . SR TR R
Choose the corfect answer using the Cod,es = ﬁ{QW%“E{ﬁF@‘ ferhea SRR
below : o \‘\\ o s
) f)nly ©) and (D) are correct 1) %h_"‘a (© R (D) W% L?;é
‘I(z) *m.OI'IlY (B)a:n‘d (C) are COIreCt ;‘ (B) aﬂ? (C) wg%l ’:\
(3) Only (A), (B) and (C) are correct &) 1 (A), B) ST (C) = Ty
~4 /(D) are correct~. (4) e (B), () ST (D) W 1
@) Only (B), (C) and'(D) are S ST -
. T omgm - ' - i S S
: QAT 7 ‘ & 5 o
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PART - 11 / Wi - 1 |
REASONING ABILITY jad aaa
' by, < e T TS T T 2 g
11. Three statements are given folIOWecf by two | 4 T ¥ I-'&Tﬂﬁ 1 T A 556 3ﬁ1 1
conclusions 1 and II. Assul.nmg the %-&Fﬁ ﬁaﬁf PN aa m%
statements to be true decide which of the %/%? e -@,m
conclusions is/are definitely true- ¢ |
o ¢ pzMm>Q
Statements : :
1 M>Q 1. M~7 Q W z m
2 P=M 92, PZ M
) > . (Q
3 N=M 3. N = M /
Conclusions : forepel -
L Q=N 3 g Q=N
I. Q<P Z B Q<P |
(1), Both conclusions I and 1I are true.~ 1) forsef 1 &R 1 ST 6 gl
(2) Neither conclusion I nor Il is true. @ T ar frspd 16 ¥ 2R 7 & frewd 1
- =
(3) Only conclusion T is frue. i 3) . e et 197 gl
(4) Only conclusion IL is tru | T ¥aq T 11 T 1
12. Eight friends J, K, L, M, P, Q R and S are § 12. 6 ALK I,MEQ R,aﬁ.z S W SR
c 2 3T SR 39 TER A A4S ¥ wed

sitting around a square table in such a way
that all are facing towards the centre of the
table. ‘L’ sits in the middle of the side. ‘7" is

second to the left of ‘M. ‘Q is exact right of

‘K’ and is sitting in the middle of the side, ‘P’
doesn’t sit with ‘L’. "M’ sits exact right of ’J".
Two friends are sitting in between ‘M’ and
g7 “R’ is second to the left of ‘T. ‘S is exact
left of ‘L’. ‘K’ is third to the left of 'L’.

Who sits fourth to the right of "K' ?

Z

e A SRR L S e A de
AP, W % RS2k} 31Q,
K % TEeH St iR € SR e & ofa
gl P, 17 % e e eI ' M, ]
e T SR AE § | M SIR S S A T
FFIR, T S IR TR WEE TS,
1 % TeheH AEI SR A1 71K, 17 3 e 3R

M R

@ s
® . L
4 P P

PGT-HIS-2023 &% T
o

T R ST 7 |
K 3 T SR S T W S 901 €2
1) R
2 s
®G) I
A& P
6 8



https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

Addal24

13. Given below j5 , question, followed by two
statements | and II, each containing some
information. Decide which of the statements
is/are sufficieny to answer the question.
How is Kushal related to Meenakshi ?

Statements :
. K
I ushal ig only son of Meenakshi's
brother-m-]aw "
II. Garvita is Kushal’s only sister.
B
(1) oth statements I and II together are
necessary to answer the question.
(2) Boththe statements | aﬂd I together are
not sufficient to answer the queShOﬂ
(3) The staterhent I alone is sufficient to
- answer the question while the
statement IT alone is not sufficient.
(4) The statement II alone is sufficient to

answer the question while the
statement I alone is not sufficient.

D%
"'hn. —
" ®=
14. Refer to the followmg letter sequence and
answer the question : '
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forery oG A o T AN
@Wﬁ?ﬁ@%‘v

wewwﬁ G/g .
hY ¢ ,@/@
L W,ﬁm&ﬁéﬁﬁ?/wﬂ@gﬂﬁl'

1L ek, e B TR e € oL

(1) wmﬁ’nwnfi‘ﬁ‘rwwmﬁ
&3 ¥ o armaeas €

@) e [ 21 e 11 ST e oft S

23 % forg AT T €|
H%IWW%W%%WW
3 <eifep Fo I 601 O 1 S 4T B

e e 78§

e 1 STReT o o1 ST 3 o forg we
%WWI&%@WWW@{%_

for et e R @ e

g—ff—%"/(@

14, Trfafied S1eTGhd 1 e S 3R I I
IA ST ¢

(4)

(Left) SBTMRESICZYOWAPDFH (s) SBTMRESIC?Z XOWABDFHG
G U L (Right) UL (M)
Which letter is fifth to the right of the twelfth e g Eh"[ ¥ Yl U IR 9 SNEd e’ %
letter from your right end of the given QRIS e S1aR i W % ?
sequence ? VT o}
P . : b/ " ' f |‘2.. S.
AL el U
@ Ww 2 W -
@) R G R
© x, U1 @ 2
i v Lo
— ' Y 4
L LA} R2
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followed by two.

Given below is a question,
g some

statements I and II, each containin
hich of the statements

information. Decide W. :
is/are sufficient to answer the question.

Who is to the ilmnediate-r_ight-of ‘7’ among
K, L M and N, facing the

15.

| five.friends],

North ? .

L. 17 is third to the left-of ‘K’ and ]’ is
second to the right of T

I ‘K is to the immediate left of ‘N’ who is

second to the right of T.

Both statements I and II together are

GET IT ON
Google Play

15.
;ga;ﬁ-,rqqﬂf‘ﬂﬁ/%?
o art ], K LM N R awoay g
Rt a7 ¥ i oy g
£

JLf’sz%ﬁaﬁTqu{%e%{“
fL’%ﬂﬁW@WW% J,
’K’,’N!aqwaﬁm%ﬁﬁfr%w
g gE T WE

o1 S FHIA-TL B, forerR

(1)
necessary to answer the question. ; e : |
(2) Either stat t T alone or statement II a1 i 1 ST SIS SRR Sy
ither statemen - -
- - - &1 ST 1 h, fag Jars &
alone is sufficie;ﬁ to- answer—Hre .'EFFI [?m: Jelp
~ question. _- 7 ' e G '-3_'.-—“ - .
(3) The sét'\ement I alo_ne'is sufficienf to &) R L g;:{ ?W ﬁ%mm
answer the question while the’ € Selh 5% I_%_ TR I 5
statement II alone is not sufficient. - sl 1’6111,’ e b l o
(4) The statement II alone is sufficiént to (4) FHI L, & “é_l W?‘\Wﬁﬁﬁﬁm
<i . _answer the question while the: . wefeR -1 S W{W SHEAF |
statement I alone is not sufficient. - [} <., o S - R W 7 SR W g
A E AR ) B
" 16. ‘M+Q’ means ‘M’ is the wife of ‘Q’; 16.. ‘M+Q =i s T fE M, ‘Q R
L M -mean_st’M’ is the father of ‘Q’; M-Q w It T E M,Q TR '
- ! ? b
‘Mx Q" means ‘M’ is the dau of ‘Q’; MxQ F A TRE W, ‘Q WG

" ‘M +(Q means ‘M is the son\df

@ed to’'D" ?

M:Q e M, QR
qff A+BxJ+U-D @ ‘B & ‘D 4
U o

(1) Sister

(2) Aunt \

(3) Mother @

(4) Brother \
PGT-HIS-2023 53 8
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; _I 7. Two statem
1 8 labelled as Assertion (A) and

Reason (R i
stateme ) are 8lven. Consider both the
nts Carefuuy

Assertion .
(4) : Fake news spread in world
has become a serious
Problem.
Reason (R) :

The internet is source of all
fake news.

Select
correct answer with the help of code.

(1)  (A)is false but (R) is true.

(2 (A) is true byt (R) is false.

(3) Both (A) ang (R) are true and (R) is the
correct explanation of (A).

(4)  Both (A) and (R) are true but (R) is not

the correct explanation of (A).

Three statements are given, followed by three
conclusions numbered I, IT and I1L. Assuming
the statements to be true, even if they seem
to be at variance with commonly known
facts, decide which of the conclusions
logically follow(s) from the statements.

18,

Statements :

1. All pinks are scarlets.

2. Some scarlets are blues.
3.  No blue is brown.
Conclusions : ]

L Some browns are blues.

. No pink is brown.

Some scatlets are pinks.

I

(1) Only conclusion I follows.

(2) Only conclusion I follows.

3) | Only conclusions I and II follow.
(4) Only conclusions 11 and III follow.

;3 [E]
‘PGT-HIS-2023 E’:‘?ﬁ
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17. ﬁaamﬁr{mwﬂ'ﬁmmwm
Wk (R) 3 w0 g2 T ) G e A

# faur HifET)

sifirmert (4) : foE H A TR oer W
‘ﬂ"@”““"é"

T (R) : W“;"ﬁ?‘mmm
T4

%ﬁqﬂq@aﬁﬁwﬁgﬁ-ﬁvmw

Endl s

(1) (A)ﬂaa%ﬁ@m)nﬁ’él

oy (h) @ % g Ry <

@) (a) IR (R) gF T E & (R), (A) e
Hﬁmel

@ () ¥R (R) oA T E &g (R), (8) F
Tl S e ¢

ﬁmwmm*%ﬁmﬁ‘ﬁmm
SR I few T ¥ 1 S fow T wE W
ngémﬁmnﬁm‘mqﬂl
mﬁ@mﬁq%ﬁqwrﬁmq | =

18.

m/ﬁmﬁqmmﬁwwe
wAT 2 i

Il

1. wef e, e (difE) B
2. oA, el
3. g M Hien o R €1
oo -

I K FB R A

ILy #ﬁ*ﬂW‘m‘@%"

11 @WT’T(H@T)W%’I <
(1) fored 1 Foigheral €1
f;ﬁﬁﬁﬁm%l
(3) Wﬁﬁélﬁﬁﬂﬁﬁﬁ%l
@) poret P I I P 1
£ 3%
9 W el yBRD
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’ i 1 19.
K ; . Venn diagram ‘
i 19. . Which of :the following )

. ip between
* represents the best relationshiP

| Teachers, Sisters, Females b, . ':;
| , M ‘.

- - Ko
i i

b Tl F

: T Y {

: H ‘%E ) . \
ThE = 4
N Pl . . ~ L
. . e, . \

) R “é S
. i
i
[

@

@ ' |
; |

® . - '(..) ‘ g

@

Study the given diagram carefully and } 20.
answer the questioﬁ; The numbers in

different sections indicate the number of
persons.

=

—
nemE g e
-;‘r "fl '15 '!;lpwq.
h lllhmﬂi1

20.

17

Under 35 Years

‘-4 How many ‘Under 35 years’ préople are

'35 2 e 5 T e o A 6 |
¢ s, ‘Salaried” but not ‘Married” ? - = %m‘m,%‘%i :
h 12 ’ @ 12 =
= L] @ 13 '
FS S @ s
4 8. | _ ] m
PGT-HIS-2023 | o
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21,

22,

« - . Executive. ‘K, the Businessman, is married
v JI ; - - . i .
" to ‘D’. Of the two married ladies, one is a

4) ‘M'is tile Executive.

; EyEE
>GT-HIS-2023 S

da247)

A statement -
conclusiong 8lven followed by four

Assuming the Mbered 1, 11, 111 and 1V,
i Hich: OF T Cztatement to be true, decide
true. - clusions is/are definitely

Statement : C _ Rsp 2 = lp
Conclusions .

L C>D

II. K<D

III. P<E
i
@
@)
®)

4)

E=R"

Oﬁi cHclusions T .
y a‘i;du51o11s Il and IV are true.

Only cgnclusion IV is true,

¥
Only-COnc}Psions I and II are true.

Only conclusions I and IIT are true. -
There is a family of sjx members D, K, L, M,
N and P. They are Lecturer, Artist,
Businessman, Exécutive, NGO worker and
Singer but not necessarily in the same order.
There are two married couples. ‘N’, a

- Lecturer, is married to the Artist who is the
mother of ‘L’ and ‘P, ‘P’ is pursuing singing.
‘D’ has one son and one grandson who is an

_ NGO workef. - -
Which of the following statements is‘\fi“ue, s
(‘i) fv is the {Ai-tist. )

(2) ‘L’ i5 son of D’ and ‘K.

(3) ‘K is the wife of ’D_’.

t’}{

i f

11

21.
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TF o faan o0 & Foredr =g =R fred 1 I
LI 3R v few g €1 Fud =1 9 AFd g4 98
Frofa i fF fae e frepdl & & 99 W/
Frepd fafrem = & o 3/82

WW:.C=R>D'§E=K>P -
ﬁﬁ?ﬁ‘:

Vi CsD

I K<D

« lI— P<E
"R E=R
O

=) "%&ﬁaﬁww%

here, frehd 11 &R IV o €1

(3) W!ﬁ'éaﬁélai‘r{nw%

2 e Pt 1 i W £

22. BEWEHE D, K, L, M, N 3iR P 9ren TF UaR

T | S ARSI, HAER, FRER, TEE, TSI
FEF oK T € fhg A s ww A o W
ST el & | < foenfe wig €1 =aremman ‘N
1 WG Teh HelR § 8 & o1 ‘L SR P &
IR 1P A S e HIE E 1 ‘D S TH
T SR TF 9 ¥ SN T WO ¥ K T

- HRE g freen et D @ e ¥ D e

.ﬂﬁwaﬁﬁﬁwmﬁ}aﬁ%%l

P T
Frfafed § 9 99 o S99 ge e ? 25T
@47 M TF FAER ¥ = &=

(2) ‘L,’D’ 9€ 'K &9 8|
(@) K, D % e ¥ -
(4) ’M"@j iy l ‘ e
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Lakshmi starts from point ‘A’ and travels
2 km Southwards to a point ’Z’ and then turns
right and travels twice that distance to reach
‘Y’. She then turns left and travels five times
the distance she covered between point ‘A’
and ‘Z’ and-reaches poiﬁl' ‘X’. From there
she turns left and travels 4 km to reach
destination ‘B’. What is the shortest distance
between the points ‘A’ and ‘B’ and what is
B’s direction with respect to ‘A" ?

23.

(1) 8km, Norl:h‘
(2) 8 km, South
(3) 12 km, North

(4) 12 km, South

Seven children K, L, P, R, T, X and Y are
sitting on a straight bench facing towards
North. ‘X’ is sitting immediately left of Y.
‘T’ is the immediate neighbour of ‘R’ and ‘P’.
Neither ‘X’ nor 'Y’ are the immediate

~ neighbours of L. ‘Plis. si_tt_ipg'secqn.d‘ to the
left of ‘L.

24.

Who is sitting at the second position from the
t right end 2— |

GET ITON
Google Play

a1 T8 0 T W g
g AT &1 T T sl gnk
ﬂﬁ%ﬂ®“@W%W%ﬁ%%

4 . :
,Bxﬁgaﬁﬁifﬁ?“ﬁﬁ“@ﬁmﬁ%miﬁu i
(1) : S'FEF.IﬁA; JW A

: (2) | 8 'ﬁfﬁtﬂ', ﬁfHUT ]q

@ 12w, =W |

g
/-(4{/ 12 f&.H., EfHUT Tz
: 2

24, g s@® K, L, P, R, T, X 3R Y T €t g
g Y SR He R §S 21X, Y ¥ wy
et @R F2T BT, RSN P W T
gl ¥1 X SR Y L F T T v

. qﬁ%‘u*uﬁwwﬁaﬁm@%wmﬁa%;

i
|
|
|
|

N (1)f K Uy
- ; @ P -
L@ R
e wif

'y o -
PGT-HIS-2023 E’%

P T
K|~
! T /
T RA TR EARIANE? 5
e BTE
- },p‘f
[
-
@ P T -
Cn Effgzﬁ- |
@ r
Y =
@ T L2
- BE-
. g L =
12 ‘ Rl
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25. Three Sta.ltémems are given
concluSions nuppared 1, 11, 1M1 and 1V.
ise;“:;:lﬁ ::ebztatemﬂ:lts to be true, even if
known facts, decilt Vanfance with conun?nly
logically folloW(Sl) € which of the conclusions

from the statements ?

followed by four

Statements ;

1. All boats are fishes
2.  Some fisheg are rivers.
3. Some rivers gre sailors.

Conclusions :

I Some sailors are fishes. »

II.  Some boats are sailors.

III.  Some rivers .are boats. |

IV. Some fishes are boats.

(1) Only conclusion IV follows. |

(2) Only conclusions I, I and IV follow.
(3) 'Only conclusions I and II 'follow.
(#) Only _g?‘hclug‘idns I and HI follow.

iy

b

26. 'Tf North becoimes South-West, then what will

West become ?

25.

GET ITON
Google Play

3 fm wem e e ¥ fees wg AR forsdl
L, 10, 111 @i v e e ¥ S e A A

. 2l
e = 3w T e @ fr w6 A
i o7 vt sifire o g e P & &
A/ ol @ e wu A e §/87

o)

(3) heaw FreRY 1 eI I Fsherd 8
-(4)“%%%{%@& 11 iR T Firerema €1 X

) ew frepd 1, 11 &R TV Freperd

26. af ‘o, ‘e & S ¥ o
T B T ? o
(1) SW-qF=m

W—TJ '

@ T |,

(1) ‘North-West™ -
(2) ‘South-East
IEB) _East

North-East

(4) |

Of '.E- K
Y.
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28.

247)

27. Two statements labelled as Assertion (A) and
Reason (R) are given. .Consider both the
statements carefully.

Assertion (A) : India has the potential to
make its Handicrafts

industry a very flourishing
sector.

Reason (R) :  India is a home to a very
large number of craft forms
including textiles.

SEIECf correct answer with the help of code.

(1) (A) is false but (R) is true.
(2)  (A) is true but (R) is false.
(3) Both (A) and (R) are true and (R) is the
correct 'expla.nation of (A). ,
(4) Both (A)-and (R) are true but (R) is not
the correct explanation of (A).

A patient has been given a medicine schedule.
There are eight medicine capsules. S, T, U, V,

W, X, Y and Z. Which have to be taken e:"ag_}}

day based on the following conditions :
(1) Capsule ‘S’ must be taken sometimes
before “T” and ‘W',
(i) ‘T" must be taken immediately before
N
(iii) Fourth capsule must be ‘U’,
(iv) “Y’ must be taken immediately before
x,
(v) ‘Z must be taken immediately after ‘W,
(vi) “Y’is the first capsule to be taken.
Which of fhelfollowmg statements is false ?
(1) . The Slxth capsule must be V.
"(2")" ‘T’ is taken immediately after ’S’,
B X is taken before ‘S".
(4) ‘U’ must be taken between ‘S’ and ‘T".
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(V) Z WW ¥ T 9 R G

GET IT ON
Google Play

4wt T T oy 5
jz(m-a;-gqﬁmﬂmha%ﬁ%mm(&)% |
3 et TR Ry

sfferaRer (A) RIC
BElETR e

(1) (A]W%W(R)W%I
) (A) T I (R) e R

IR (R) A W € o (r),
%rsqm%l @
g) (A) AR (R) S TR E TG (R), (4
4) - iy (4) %

T TSl I T S AT € | ey

¥ - S, T, U, V, W, X, YR Z ¥ 3

frerfafea Tl 6 SR R T&F & fog

L

(@) S ‘S T SR W | TR o

feran smg;

@) ‘T 'V § TR Yo T S
5 Tv“’ TS

(iii) Tﬂmw -

(iv), ‘Y’Hﬁ’){'%ﬂc‘m’lﬁﬂ%ﬁfﬁmm---

ey ‘Y’wm%ﬁﬁmml P
frefafen & § = @ w7 Tom §2
(151 Suege v BT =R _
@ ‘T # ‘s ¥ dewrer g T S &
@) X = ‘s | yea foran S 2
@ U s ST 3 e oA
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2 Sudt;ta " fﬂg Wife of Anand. Kavita is the
mOTAet ; AUrav. Any is the daughter of
Ravl who i thie bl:Other of Aryan. Anu's
“mother Kavita i %

i Sk daughter-m-law of
nan S s“dT o related to Aryan ?

‘h.=.5
Paternal graﬂa

ool

@

mother

G 1

(2) Maternal glanﬁmothel

3)

Siste_r

(4) Mother

30;. Select the letter clusteg: that will replace the
question mark (?) il lié following series

BVU, ZXQ, XZM, VBI, TDE, _

GET IT ON
Google Play

|
T, o % e &1 ﬂﬁﬁ;‘“ﬁ,
7, <Pt o o T 1 97 s
IR, ST ) T ¥ w1 g
Hay g2

29,

e
Gl
°F

e sfaen 3 we firg (2) % T W
el STER TS 1 =9 HL

30.

RPN

(1) FAR
(2j FRA
(3) RAF
@ RFA h

rﬂ?@!ﬂ

PGT-HIS-2023 &

 BVU; ZXQ, XZM, VBI, TDE, Fs?
2| f& U g 2o (7"’ =t
22 . 211 — -
@) = 5L
(1) FAR % %“-#/
P
Us _(,7
@ FRa j R
3:5@‘
(3) RAF
_@E’r}f @\
-J!'
M 7
R2
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H.

. 33

PART - Il /

KNOWLEDGE OF ICT

31. McAfee Plus is an example of :

(1) Open source software
) "Progran}rqmg_ Language
‘ - .
(B) Anti-virus i
, (4) Application software
bl e
t ;‘ [ =
%
. P
B gim

32> Which of the followiﬁg software you
preferred most to de51gn 4n animated
multimedia presentation on the topic ‘Benefits
of Renewable Energies’ ?

T

(1) Microsoft Excel
(2) Microsoft PowerPoint
(3) Microsoft Edge =,
(4). Microsoft Word ¢ %
i ,H = LR I
i .
Which of the following cloud storage service

owned by Microsoft ?

- (1) Floppy Drive

(2 Go&gle\];)rive

o tickd O E
@) S —
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32.

33,

GET IT ON

Google Play
r
|

-
/1C T?FIEFI

i @ (McAfee Plus) ﬁﬁqm T

3?7 Lz %
(1)

s g‘i# IR TE RS (Open o
softwaie)

) Wﬁ'ﬂ (Programming Lﬁnguag 9

py” AN

software)

i (Antl—virus)

Liﬂl'll!

ERIREERR (AP1'Jlic.-:1t11£{11

affren 3R U TAsis o w
T S fose 2 & fi

o Pt 3 & T & w2 i
rerfirear &1 2

e

s
i

'_?‘:—.-.__1

Wm (Microsoft Excel)

nw?mm EIEERE (M1crosoft |
Powerchlrﬂ') !

’::\.

3) HESHEITR TS (1\/.[1crosoft Edge)
K47 msa?m‘fqz I€ (Microsoft Word)

Ly

S

€5
@

1‘ Wy
u]
‘! |dl

'n
HIII'J|'| l

ﬁw&—@aﬁ%aﬁ?ﬁr%?

":ﬁ

A Floppy Dmre

@ :
ﬁ One ane._;

T R2


https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

Addal24

34.

GET ITON
Google Play

combination Ing options, the most popular | 34
selected textOf shorteut keys to Copy Some ¥ Y U T S (MS windows) T&HIA
applicati ™M most of the MS windows TS IART W H FR FA F
pphcations is ; _ : . fomedt ¥ @ walfus A=fod
(1) Cui+p L3 -7 ' W - § 2
E—
@ Cul+x g (1) Cul+p
@) Cuol+c <53 () cul+Xx
£
@) Cul+go =2 A Ccul+C
P @ cul+o
= 5
35. The power backun i '
P device, UPS, stands for :
35. R HAeheTd SRl FHied (UPS) 1 1 ¥

(1) UI'IJ'nterrupuble Power Supply
(2) Uninterruptible Power System
(8)  Under-control Power System

(4)

Under- COnt‘roll

F-‘d Power: Supply

b

15

36. Which of the follgWing is not a source of the
virus entering yoarisystem ? .,
(1) Pen drive E%
(2) Printouts }-____E
(3) Email a&ac]flzﬁé t
(4) Hard Disk
37. Which of the following does not come under

cyber-crime under IT Act 2000 ?

)

Misusing pers -sonal information over

36.

internet =

(2) Using fakg Fﬁlélil messages to get
personal m{p:rmahon

(3) Stealing mq;f_la_tor from a store

(4) Distributin é’ém 1d pornography over
internet = = _

i
|

1)
2
)
(4')/ Under-controlled Power Supply

Uninterruptible Power Supply
Uninterruptible Power System

Under-control Power System

frfafes § 9 9 = ear fawen ¥ 9oE &
3 I Toh B Tl &2

(1) U9 21Ed (Pen drive)

2y~ fHeerszd (Printouts)
(3) -Hal TTHT (Email attachment)
(4) = fe&F (Hard Disk)

37. ﬁmﬁrﬁaﬁﬁﬁﬁqm 3% < TER-2000 F el
T TEER ST T § 2

(1) TeTTe W SR ST 1 TR HT

SifeR TR W it & fer el
- (fake email) HEST 1 THT HTT
(3) fert TR R WA N
(4) FTWT W I avelld  wWifecy
(pornography) faaf@ =m

17
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38.

Which of the following groups of devices are -
only input deyjces ? "
k‘u

1) Keyboar:cﬂ‘:]’urinter, Light Pen

SSEE
ol
i

(2 JOYSﬁCkgﬁ-:fi:mphone, Scanner
| *

=
Fr——

—_—

(3)  Mouse, M&hitor, Joystick

. (4) Mouse, MiCrépI{one, Speaker

sy
.mm_

Which type- oﬁ ngtwork we create. when we
connect two smartphones to transfer” some

photos througﬁ_BIhetooth ?

39.

(1) PAN _T"-q-__é
(@ LAN s
(3) MAN g
- (4) WAN
40. Which of thei' Ilowmg is an example of an

Opera[-mg System ?

(1)

2

©)
(4)

iz

PGT-HIS-2023
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39.

40.

GET IT ON
Google Play

=€, T, o 4y (Ke
Light Pen)

o

Prirlterr
W} HIEH IR, Thag (Jo
Microphone, Scanner)

ared, A, TTIITI'I":‘ET'—F(Mouse Morut
]oystlck)

ystiek’

(3)

@ T, qEH 1H 9, THHT (MOus'e;
Microphone, Speaker)

e 9 =2 (Bluetooth) %“Fl'lﬁltrﬂ ‘ﬁl'r!l
amm%ﬁmaﬁm%7

gy tﬁEﬂﬁ (PAN)
() T (LAN)
(3) THYT (MAN) L

(4) ST (WAN) ¢

ﬁtri%rl’@-cr TR HH W e fawn
(OPel‘ati.ng System) T T TRV § ?

(1) =€ (Wordq)
@ TS (Windows)
(8) T (Bing)
M T (Bdge)

R2
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PART - IV | MI% - v
TEACHING APTITUDE / Rgror siftrafit

41. Effective teaChing i '
oy » by and large, is a function | 41. Tem: et faeor £ . e
(1)  teacher’s pogiy ,
teaching, W athlude fowards A1y forerm =y T % 9fa WeRRRHS SAfgia
(2) teacher’s abyj;
B g sl [ RORE s
sty.
(4) teacher’s Scholawh- (3) faers = F ¢
rship. (4) ﬁi'T&Tﬁ =1 gifeed X
42. Which of the followine -
- “Assessment fo owing is not an example of | 42. fr=ifera # | i ‘AT F e I
of Learning’ ? T T 2
(1) Scholarshi o i ; ' ’
1p Examination 1 T
(2) Anecd - (1) EIECIS AR
| N () T afuerE
(3) Annual Examination @) o
4) | Assessment of Homework - e ol SHEH
43. If students are not taking interest in their { 43. qﬁx’ﬁl@?ﬁ mmﬁ?ﬁ?ﬁ@@%ﬁw
studies, the teacher should : _ =l
(1) file a complaint with the principal and (1), Tt SR S - 3 fomEa H
parents and seek their indulgence. T iR S HeTeE H A Bl
(2) find out causes for lack of interest and 1 A2y~ ST TER 3 w5 7 o & HROA 1 T
take corrective measures. GUIETECINED HIEr e
(3) ask them as to why are they not taking (@) WY ifn fi S warg § & = T
interest in their studies. ® ®eI
4) tell them that taking interest in their (4) %3% GHAT ﬁl%q’ﬁ 1=|%'l‘$t YeEEea 9
studies would lead to good result. ST RO W T
4. Which one of the following is 1ot associated | 44 %’f ' %”é';“ 3 T T e
ith a unit test ? ' :
i 2 teacher (1) Foe g i
(1) Totally” controlled by the teac
e P —— (2) RUEIHRIED e %@ RS
(2) Used for Remedial PP Tests Y S TR
. jevemen - .
(3) Standardized Achieve % e < i T T P
Jimited number of S - -
(4) Confined to e
Competencies
R

EEE
~r e NN r&f%

19
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45. Which one of the following is not a
characteristic of teacher centred approach ?
(1)  Enough scope for discussion and debate
is available.
(2) Courses prescribed can be completecl in
time.
(3) Large sized classes are handled very
well.
(4) Unfamiliar or abstract concepts are
directly explained by the teacher.
46. Mohan can now think in terms of

propositions and deal with propositions
instead of objects. He deals with sum total of

possibilities rather than empirical situation. :

He takes final steps towards versatility in
thought.

Mohan is at which stage of Plaget’ s model ?

47.

(1) Concrete operations stage
(2) Formal operations stage
(3) Pre-operational stage L
(4) Sensory-motor stage g
47. The ASSURE model of integration of ICT in
the learning process has the components :

(1) Analyse the content, state the aim,
select method and materials and
evaluate.

(2) | Analyse the learners, state the aim,
select the method and materials and
extend.

(3) Analyse learners, state the objectives,
select the media and materials and

aluate. g
Activity, state the objectives, support
and e-;ti_:enrwgp
ElEE
PGT-HIS-2023 E;% 20
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GET IT ON
Google Play

=r€f§7

Maﬂ-{mﬁaﬁﬂaﬁﬂﬂm W@W%l

ﬁﬁaq@ﬂaﬂaﬁwmt‘m%
el €|
@Wﬁmaﬁﬁmmﬁw
Sl

grafefaa ST ST T Ry gy
i-dha et R S ¥

(3)

S

wmmﬁﬁ_’ﬂgaﬂ%@ﬂaﬁm
ot oren A H IR L WHA T
wﬁq;mmﬁa%’aﬁmﬂﬂmaﬁ%w@,
T I ¥ TE fomm o Sepvea it o
ng'l

e, frars 3 IR % STUR R fF8 wwow
g2

1) EUIERIREACEE

A7) ST WA STEe

(3) Yo-GfshamcHes T

(4) F=E-WT A STew K

At fshar § g iR WIYo it &

WHEE % ASSURE WiadH & s/ema & :

(1) fowrerg = fageiv, T fufo, &
SR wEft w1 = SR et |

(2)  fermerateli @ faveru, weg fauf,
faft s wmeh =1 = stk forer )

@) sfermrtat @ frvdao, st @ fEw,
A SR Wt <ht =R SiR e |

Wﬁwﬂiﬁfwﬁﬁmﬁmﬁaﬂtﬁﬁm

R2



https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

Addal247

H
i
!

50.

GET IT ON
Google Play

46 'Which Charactel‘istic does not belong to | 4 ¢ ST 82
Adolescence stage 7 g 8. THuRi ¥ o 'Fﬁ ferdroran =&l 18 7
1 A Period of intense emotions 1) <t Hal 1 OEg -
@ iHigth Critical of social evils and 2) W quEdl 9 o % i forga w9
ko A |
3) Prono
ki Hhced group loyalty (@) T wwE s
(4) Formin g , .
s SeE 8'0ups among members of _ A fe 3 sl 3 e T
What sk .
49. 1;: t:l ‘l;uld ot be a role of a teacher in the 49, foenfd=y gmy om = ST w0 B ek &
consTruction of knowledge by students ? B < vyfirert = 2 = ?
(1) Focussingﬁon'realistic approaches to (1) arefos fowa 1 quenedl & T e
solve real world problems AR SUFTH] T HIhLoT
2) Discouraging self analysis and self Mﬁl’?@l’ﬂﬂﬁ TR I BarIed hll
assessment -
(3) Being sensitive to the previous (3) e % T ferneff % qAHS % gfd
experience of each and every student ECERIEH
in the class ; -
(4) Supporting cooperative and (4) FaTT-hel H TeAr! e T S
collaborative learning in the classroom EIRERR HEETG]
What is not an advantage of Discovery | 50. @l fafy & Wi &1 @19 el T T 2
method ?
(1) It provides training to prepare students (1) - 9= ferenfefat =t “%l t % e TR
for life. et l
(2) It develops self confidence and self (2) T ag[ma%[k ey SR ST 6
: CETLS |
reliance. '
. Fereli < feenfeai &
(3) This method is suitable for the students /6( qggq@pﬂﬁ&%l@ﬁ A
of lower classes. .
cientific and critical 4) TWH B el & Az 15
(4) It develops s e g 1 foeE BT 3
attitude among students. !
21 "8
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PART -V /¥F 1 -V
HISTORY / 3ftrert
51. Which one of the following was not an | 51. Tr=far@d #H B Tl gr sTgefe o "
officially maintained record of the British ? T feprs T o ? | :
(1) Gazetteers (1) Tead '|
(2) Constituent Assembly Debates Records () wifegde e fedy Ry a
(3) Census Records » f-f._’ff' oy ﬁ%‘l@ !1-:_
(4) Report on the Native Newspapers (4) T &= T Afea =g |
52. Given below are two statements one labelled | 52. = &2 <1 oo § | Teh w1 e (A) T TR
as Assertion (A) and the other labelled as - < THNOT (R) el 701 |
Reason (R).
Assertion (A) : T (A) : . '
Ghiyasuddin Tughlaq granted exemptions to g e 3 T el b ol ﬁ—?ﬁlﬁﬁ
Khots and Muqaddams in the land revenue. Tramad )
Reason (R) : . T (R) :

- Ghiyasuddin Tughlaq wanted an active ﬁ'l"EITﬂTZ,:\TI T T e Fie o =6 il
support of the Hindu aristocrats to curb the X SHY T ? e %EV FedA =9 1 wima
power of the old Muslim elite. - EER AR vl 6
In the context of the above statements which T:F'IFEIEK-I EESC] % Hed o ﬁmﬁﬂiﬁﬁ HH &AW
of the following is correct ? _ L EU- A
(1)  (A) is correct but (R) is not correct. l5('1’)"‘&,&’(14) T T TG (R) T
(2)  (A) is not correct but (R) is correct. (2) (A) o R TG (R) HEA R
(3) Both (A) and (R) are correct and (R) is (3) . (4) 3R (R) B & ¥ 3R (R), (A) Ol

the correct explanation of (A). w PTE"]H?{'UT gl ,
(4) Both (A) and (R) are correct but (R) is 4) (A) 3R (R) 3 ¥ ¥ W (R), (A) F
not the correct explanation of (A). R G e E

Related to textile craft, was the indigo crop | 53. U Ty 1 g el W wEa o1 3R i

and the extraction of the dye from the stalk ?‘F 1Y % <edl SR T 9 A = Tremdy Gl

and leaves of the plant. Who describes the ol Tore 3w fremdo a5 H’RF‘*EF Tafa = =vi
earliest method of indigo extraction ? g2

(1) Isami (1) o

(2) Barani (2) R

(3) Ibn Battuta M3 3= W
(4) Marco Polo @) Rl G
i ,
f-lls 2023 @ﬁ 22 -
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Google Play

ga Masch Listlwig, o 1 ond s 3
; | answer from the code an bmd the correct | 54. 'if"ﬁ-l H 11;5&.11 1 gﬁﬁ"lﬁ SHifSe = &
List-I B below, T e Y wE IO B WA R |

(Rebellion) :-';Zt'll H?h'-l_ H?.ﬁ-ll
(a) Ahom ; i (forire) el
v Ko (1) 1831-32 (a) 3@Em ) () 1831-32
(i) 1855-56 1™Gi) 1855-56
(c) Santhal 7, 7
(i) 1921 @) 1921
d) Moplah &) 1828 -
Code : ;Q(' iv) 1828
oy’
® 06 @ @ O © 4D
M B @ @ o ® @ @ o
@ 0 & @ o ® 6 @ @ @
@ @) @ @O G @) Gi) @) @ @
@ @ O 6@ @@ ) O @ @@

55. Inhis’Account of the Twelve Provinces” Abul 55. 1g« T A A :5_1 ?Tfﬁ 1 T, el
Fazl provides detailed area statistics of all T ARG il <hl ﬁ'ﬂﬁ GER] HiterE N
North Indian provinces. The record of which fem ¥ 1 T oA W BT 6/ wid =T
among the following provinces is/are not fré et T m:'@j%:’
recorded by Abul Fazl in this ? I
() Bengal @ ST -

(i) Thatta ) T -1
(i) Kashmir (if) -
 (v) Lahore v) T
‘ .,Choose the correct answer from the code :ﬁﬁﬁqm@ﬁnﬁmﬂw
iven below : B
& o 1) W(m)@’fﬁ(___i_
(1) (i) and () ooy @) e () (i) 31}"{__(;1)
(3) (v)only @) s () 3 (i _J_; _
(4) (i) and () only =
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56.  Who introduced th t : A ;= TR R
e permanent settlement in | 56 Z
Bengal ? ;
(1) Lord Charles Cornwallis T
(2)  Lord Richard Wellesley 3
(3) Warren Hastings i
(4) Sir John Shore _'

57. Match the following List-I with List-II. 57. fepAfered -(:!:aﬁ-l aﬂ Hﬁ;;ijlﬁ?‘fﬁ Eﬁ\ﬁrm
List-I List-II g1 (s R
(Authors) (Their Works) (TE ) I

(@) Margaret ()  Gandhi’s Political (a) it S ® 7 W’ -

Chatterjee Philosoplhy - }
() Gangeya (i) Gandhi’s Truth © wEmest G T T
Mukherji s =g
(c) Bhikhu Parekh (iii) Gandhi and Tagore : (©) ofig IR ;:LE e 133'%77}? Wﬂ%ﬁag
Politics, Truth and i*—*-?—;. F7 RE e
Conscience ;:f___f:_ o
@ T Wg T TS T e g

Gandhi and His"
Jewish Friends

Choose the correct answer from the options
given below :
@ (® (@ (@
1) @) @) @# @
@ @ @) @ (v)
G @ @ @) (i
4 @) @) @ @

(d) Eric H. Erickson (iv)

58. Which book was smuggled into India
wrapped in a cover labelled Random Papers

of the Pickwick Club ?

(1) Edward J. Thompson's The Other Side
of the Medal

(2) S.B. Chaudhari’s Civil Rebellion in the
Indian Mutinies

(3) V.D. Savarkar’s The Indian War of
Independence

(4) M.N. Roy’s India in Transition Stage

E3E
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(@) () (o) (d)
My (@) @) @) @)
@ @) @G @ @)
G @ @ @v) (i)
@) (iv) (i) (I_L (i)
58. fa gwmen =1 mw%ﬁﬁmm
%mﬁmﬁwﬁﬂﬁmwﬁﬁﬁw
T 7 ? e
M i e i oree R

11‘

(2) Wﬁﬁ ?ﬁ%lfL‘%I fafaer Refera & 1

§51

3) aﬁ.@iwﬂm#}ﬁ;@waﬁm
slev=gg
@ . % w57 R &

R2
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>
tch the f ;
g9. M2 ollowing {51 with List-11. 59.  Frefrfiam Tefi-1 1 FE-IL 3 W e
List-1 ?f‘
g1 Tel-1 Exip
L
(Author) ,’{”"
kK
é;gor ) (P ) (FR)
: ce Lebra- Cal
(a) ngapma:a ® ™ Veer Kuer Singh : (@) i Sen AT () ot g e ¢ feie
The Great Warrior of FiRaT iE 1857
1857
(b) ?chE]oljber ()  The Rani of Jhansi : (b) TR e @) Rt arm g : T
& y /A Study in Female ’ et 59 wHe SiE
~Heroism
(© S.K. Sinha (111) *“Indtan Mutmy and () ww.F. T= (i) gfeaT rgfz?’f ge fa
£ *the British fafewr gaferTar
T_.—[magmatwn '
(@ Gautam (1V) Tﬁe Indian Literature § (d) RISLECELR] Gv) gfeaT el
Chakravarty of the Great Rebellion ' & e fRater

Choose the correct answer from the options

given below :

@ O © 19

3 fen o fawed § ¥ WEH IR A
g :

@ ® ©@ @

@ @ @ @ 0

@ @ @ ©

@ O O @ @

0 @ @ ©

@
@) @) (v) (@) @
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460.
List-I List-II
(Author) (Their Work)

(a) Sir Collin (i) On the Face of the

. Campbell Waters

(b) Flora Ann (ii)  Lakshnti Bai : The
Steel Rani of Jhansi

() Sir T. Metcalf  (iii) Two Narratives of tiie

Mutiny at Dellii
(d) Michael White (iv) Narratives of Indian

Revolt from its
.. outbreak to the
: -+ capture of Lucknow
Choose the correct answer from the options

. given below :
@ ® (© (@
(1) @ @) @ @
2) @) @ @) @)
@) @ @ @) @)
@ @O @ @ @)

Given below are the two statements : One is

labelled as Assertion (A) and the other is

‘labelled as Reason (R).

Assertion (A) :

Gandhi’s critique of science emanates from

his dissatisfaction with the divorce of science

and progress from morality.

Reason (R) :

Gandhi argued that the advance of science

had added ‘not an inch to the moral status of

Europe’.

~. In the context of the above statements which
- .of the following is correct ?

61.

60.

(@)
®)
©
(@

(1) (A) is true but (R) is false

(2)  (A) is false but (R) is true

(3)  Both (A) and (R) are true and (R) is the
correct explanation of (A)

4) Both (A) and (R) are true but (R) is not

the correct explanation of (A)

ElEE
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I 2
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SER
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(d)
(i)

2 (i)

q T
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& R? ¢ Al

(1 (A)Hﬁ%tr@,(k)w%n

3) (A) TR G A (R) WEEI

() (A) R R T T SR (R), (A)
TS A

(4) (A)aﬂt()mﬂﬁ%m(m (A) =
SERten e SR -
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63.

L From &
g Fro mong

5 I l'.listo'ry, ChQOSE

. : he i

: regardmg Can % fOllOW:ll'lg Statement
an (North American?

! COde siven B Correct answer from the

31-,8&12 became 4 Popular
€merging Canadian

Was useful for
8lish and French giviqe

() The war of 1812

(d The war of 1819 '

| American Bt Nurtured Anti-
Code :
(1) (@) and (d) onty

@ (@) (9) and (@) onty
- (3 (b)and (c) only
| 4) (a), (b) and (c) only

- India ?
1) 1876
) 1911
@) 1792
L (@) 1858 -

6:* Who persuaded Gandhiji to come to

oy
'
@

P4

PaTHIS.2023 B2

Which one of the following years Queen
Victoria assumed the title of the Empress of

63.
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62. Frer (sudt efE) ¥ sfer & daw H

el # W e Ry e e W wd I

B =TT FHifa

(@)

(b)

1812 1 I WA FASE TLaR & g
Th Aehiyd Heas & |

g 71 21t ok B 3T Temedt g @ s,
1812 w1 g5 Frat # ferfewt AR S farvem
= @ifeha T & ferg STEntt @

(€ 1812 %F gg I i Al F vaa @

?E .
ey

% afrereiertr st o & g v fole
=1 T = fea )

1812 % 7z 3 omifem fodedt faardl 1
qife T

-W (a) 3R (d)

(2) T (a), (c) 3R (d)
(3) &= (b) R ()

(4)

A (a), (b) AR (©)

=1 8 | forg ol # et fo=ifen 5 sia =t
TR hi ST G iy off ?

s 1876

2) 1911

®)

1792

&@f 1858

64. el BRI H THET H FE-ISAA FH o

Champaran to investigate the problem of
Indigo workers ?

Rajendra Prasad
Acharya J.B. Krupalani
Brij Kishore

(1)
(2)

(4) Raj Kumar Shukla

27

SRR
ST S FIARL
3) ot TR

IS g

Tiefrsft < =R 3 % o feem TSt e an 2

R2


https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

Addal247

65. Commenting on Gopal Krishna Gokhale’s | 65.
death in 1915, who said; “Truth was the
spring of all his actions” ?

(1) MK Gandhi
(2) Shishir Kumar Ghosh
(3) Rabindranath Tagore
(4) CR. Das
66. From the following statements regarding | 66.

Non-Cooperation movement, which one jg

correct 7

(a) Under Non-Cooperation, Gandhiji
urged the people not to cooperate with
unjust evil system.

(b) By describing the British Indian
administrative system as an evil,
Gandhiji removed the spell of fear of the
‘Terror of Law’. ;

(c) Under Non—Cooperaﬁon Gandhiji
urged the people to break criminal laws,

(d) Gandhiji termed prisons as ‘His
Majesty’s Hotels'. _

Choose the appropriate answer from the

options given below :

(1) (®), () and (d) only

(2) (0) and (d) only

(3) (a) and (c) only
(4 () (b) and (c) only
67. The basic philosophy of the Indian | 67.
Constitution is to be found in the Preamble.
On which date was it adopted ?
(1) 22 January 1947
(2) 26 January 1951
(3) 13 December 1946
(4) 15 August 1947
PGT-HIS-2023 g%’ﬁ 28
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(1) A, e

@) Fafer FAR Y

(@) s TR

(4) I T

TR Sfeie & ° # frefafea ¥ § @9
o e 7

SR AT o Ferte it ¥ <t |
FAE A IO F Y wedm 9
T 3TAY fepa |

forfear et wwmmafes yomedt =1 5 e
B S 3 "SR & AR’ % e T
T feam an)

(2)

(b)

b@;@ﬂ?{ﬁm A & T8a Wl T | g
STIfER <1 <l A o1 ey e

S T Sl B werfEn = B’ W@

BRI '

= o T fosmedl # 9 w3 & = Tt

(d)

(1) e (b); (o) 3R (d)
(2) FEd (c) @R (d)

(3) Had (a) 3R (o)

(4) T (a), (b) 3R () &

I HGHH 1 T 96 SEERT SR
(Preamble) # fiera %1 ¥ =e 3ffier fomm
T o1 2

(1) 22 e, 1947

(2) 26 SFE, 1951
S 13 T, 1946

4) 15 oFTE, 1947
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{vhich of the i‘ullmvinp about

“proclanaation is not g, g Azamgarh | 68. st Srerom 3 =i B Fre B A R SR

(1) Appeals to dilfore t F’@‘—[ﬁ%) "3
A N sections of soei .
were made il H Ol sociel . < . g

under fiyve separate aeuiion: @ s f%[i’;':‘l m; :;T‘a % o .
It was ; Hﬂ_alﬁl T
I s Q “‘-‘b])t\nso to the Sy 2
Proclamation, cen's

(2) o FRRE Wi EHoN <R gL Al

It was 1“““\.\‘1 nq N

25 August 1857, " Ishtahar on (3) zfvaer ¥ AR W IHE 25 AT 1857 £
. S e T

It was issued ;
Issued in the name of Bahadur

Shah. Qciu

(4) =8 wegt we A AW ¥ fR T

69 Match List-I with List-I1 ang find the correct
© . answer from the code given bel

69. TE-I T WE-11 ¥ Fhfew L e A i e

Al e § WE ST H TIT L
List-I. Li
15t-11 'Fﬁﬁ‘-l -;Eh_n
. (Author) (BOOI{) : ( S ) (W )
(@) zadalj-l:lai ()  Discovery of | (@) e ARt fewpradl AT
_ Naoroji India ' zfogan
() J.L. Nehr () India wins (b) SR e e \ () e fod
Freedom wied
() Maulana (iii) Poverty and the (c) WA SR (i) TEE WS T
Azad ~ Unbritish rule Efafen v
in India sfogm
(d R.C. Dutt (iv) Economic (d) DU TE T _{iv) THEANEER TLN
Hisltory of India 3w st
_.ICode - L
@ e © @ @ ® @ @
_ o o @ E e ® @ () (@) (@)
0 m e e @ @ WY & W
' @ @) @ @@ @ @O @)

@ @ o @ O @

o iz . - - R2
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sformed the character 70.

70. Mahatma Gandhi tran nt by doing

of Indian National Moveme
which of the following ?

He brought in vaststratas of society into
it and made it a mass movement.

A)

(2) He kept the Zamindars and big
businessmen outside the movement.

(3) He ousted elitist leaders from the
movement.

(40 He made compromises with the
revolutionary leaders.

71.  Which of the following is the key message of | 71.

the "‘Monroe Doctrine’ ?

(1) Itwarned the European powers against
any attempt to extend their power in
the western hemisphere.

(2) A blueprint of Dollar diplomacy.
(3) It abolished slavery from America.

(4) Itwasa doctrine of economic assistance
to countries of Latin America, _

GE
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T s e o % ¥ fing e o ae -
List-I “8lvenbelgy, |73 W‘; G-I A AR Y e Y e '
W Lis]t*n TIWMISmA TS
. (Name of A :
© Chinese Leade;y  (Afsociation With) q‘?&l -1
.\ Mao Zedong : i’:f:_}% (SR it 35 ) ()
@) ) F°‘:%I}:§j§r of
u&i‘i“jé“ong @) weh gt @) , FAHT = deaas
Sun Yat-Sen . S (Tei I
(bJ (ll) Ma—nk."é,t b
" R refonmy | O TVIEE ) s o
© Deng Zio Ping (iif) ' TR
Chairmap of . © Fnfy .
Comlm-mist Parl:y . B 3“3?['&[1'[ (l.l.‘l) Eﬁﬂgﬁﬁqﬂ‘ﬂ-ﬂw
Executive ang F 21y o Y e
founder of Red Army & HEAT
(d) Chiang (V) Pepeen ‘ .
Kai-Shek c?j%u o @ TEmEEw (v) e T w
: _rﬂa—éumsts " ﬁ@ﬁ
Code : N
o =
(@ () (o (d%g @@ ®) ( (@
__ 1 @ G @ (IQ; | M) @ @ 6w
@ Gv) @ @) @L @ @ 6 @ 6
© @ @ G v A () @) @ @)
w0 @ @ @ W0 @ @
o A forg ol o1a TEE T FE R W e
73. When did Japan resogﬁegé to force and { 73. Em?
occupied Manchuria ? u.-
s (1) 1934
; o
Rl @ 1997
@) 1937 o 199
v -(8) 1929 - | 4) 1931
(4) 1931 B cae §8 R2
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e ——————

ents regafdin &

i T
4. ‘Which of the folloW!'8 - /are TRUE ?
Feudal structur® in BuroP® s
estern Europ®

(a) The feudal societ)'feril; > e gk
developed mto? hi s - cording
person was assigned 2 P
to graded order.

; jsm

() With the passage of time, feﬂdahzn
developed into 2 form of governm 4
in which absolute mgnarchs emerged:

(c) Feudal grants Were anconditional and
were given {0 nearest Kin:

(d) The relationship ©f duti.es and
obligations of the serfs for their master
constituted the most important aspect.

Code :

(1) (a) and (d) only

) (b)and (c) only

(3) (a) and (b) On‘ly

@ @ (b) and (c) only

75. Where was the first major public_; appéai’ance

in India in which he charged Indian elite of
neglecting the labouring poor 2

Champaran campaign in 1917.

of Gandhi after his return from South Africa -

M
(2) InKheda demanding remission in taxes
for the peasants.
(3) The opening ceremony of the B.H.U. in
February 1916.
(4) Talking about the labour dispute in
Ahmadabad in 1918.
By3E
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E':.-L -‘-‘: .
The gl’OWt £ cips .___H_:

(a) h 2 Cltles:!;cfae‘ ated IESSQI'

demand for foodgy g™, (a) vl % fopr @ @ waef A L

Wwith the i T g
B growing ms;(ia“s““ifzﬁzf trade and (b) ng foreae i @R Hifee T i
to break the o] ary transactions, began el el B ¥ = 1 YEAT E’Q |
: old structifyzos feudalism B
© Resulted in e 1'i§§‘"tﬁ :
- monarchies. {Lﬁ.@;g’f absolute (c) WWWW@WWW'
d) Theinstitution of 3
( sigid. serfdom became more - (D) ;@?ﬂq (serfdom) e 23 2afe FOR
: I ‘
Choose the correct g i
civen below. nswer from the code 3 firw T e B TR TR B I FHAC!
@) (a) and (d) only '
Y ! FIA (a) R (d
? ©@and(@only 147 ) (a) SR ()

(2) FaA () I ()
@) FEd (a), (b) 3 ()
(4) FaE (b) AW (9

) (@ () and (d) only w—
@ () and () only

77. From among the fOllOV\E?_if:-- ¥ statements | 77. TSROl Qe & SR H frofafea 8 9
regarding Renaissance m_gfivug_]nent, which o /ﬁ HY '-El'ﬁ % f% ?
is/are correct ? 3, %S -

(a) The scholars of the Re a

naissance were (a) Wﬁmﬁwm% AR
critical of Scholasticism. 1
(b) Scholasticism laid great emphasis on the (b) S EiETR ufties foeamy % diieheh
rational justification of religious beliefs. TRl TR STeAfEsh S &l |
" (¢ TheEnlightenmentwriters believed that Qe T el oE® a8 A o {6 ek
liberty discouraged commerce that in. o 1 TareTied Bl § S 3Hh el
turn discouraged cultirfe s i dpfa = edietEd H § )
(d) TheRenaissanceas amévement was the (@ = ST ¥ ®9 H ISR T UAHO
product of an rural mt?vement STieTe 1 T o1

Choose the appropriate al_'ls__vier from the = feg g ET S| 'Fl@' I T =T i |

code given below.
(1) gza), (c) and (d) only .. (1) A (), (c) e;\:{ (d)
@) (), () and (d) only ! 2) E (b), g{ (d)
®) @end@only @)wﬁwg
4) (a) and (b) only A7

- Bl 33 B2
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.' 78. Given below are the two statements : One
| ! labelled as Assertion (A) and the other
[ labelled as Reason (R).
¥
. J Assertion (A) :
il ; Though the Seven years’ war (1756-1763)
,' | was essentially a war of Auslrian succession,
] it profoundly altered the balance of power in
North America.
| Reason (R) :
i The Seven years’ war marked the end of the
i French Empire in North America.
i In the context of the above statements ‘which
of the following is correct ?
! (1)  (A) is true but (R) is false
| (2) (A) is false but (R) is true
ﬂ (3) Both (A) and (R) are true and (R) is the
| I correct explanation of (A)
¥ (4) Both (A) and (R) are true but (R) is not
H the correct explanation of (A)
79. Inwhich year Vancouver Island was declared
a crown colony with its capital at Victoria ?
(1) 1853
(2) 1854 _
(3) 1849 S
(4) 1851
' 80. Against which powers Japan scored
remarkable military victories in 1894-95 and
1904-05 ?
(1) China and England
(2) China and Russia
(8) Korea and China
(4) England and France

By
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 ghe effect of the discovery of o 1qpqc
Ivicf_-oﬂa; m 15%52 Wwas that 5 great sty o

| e nON-CONVICES from Eyyq bfion
i Australia.

Pe began to flow
KeaSOn (R) :

1o prevent any furthey introduction of

undesirable convict immigrants, the
Legislature passed Convicts Prevention Act

11852, in Victoria.

fn the context of the above statements which
of the following is correct ?

(1) (A) is true but (R} is false
()
&)

(A) is false but (R) is true

Both (A) and (R) are true and (R) is the
correct explanation of (A)

(4) Both (A) and (R) are true but (R) is not

the correct explanation of (A)

g 111 which year the Meiji Restoration or Meiji

‘Revolution took place in Japan ?

M) 1868
@ 1871
'__(3_) 1854
"(‘Il) 1862

Roi
QT#HIS-2023 s
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GET ITON
Google Play

8L ¥ & mem fu ¥, o wet (A) I

HTUT (R) 3 w9 & g T K
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a1 1850 4 Fyifen A T Y A S
TS 7 o iR R @ wgd g A s
(non-convicts) fR afeeferan =l M

RIUT (R) :

S fagar TRl ¥ 2T e T
B A ¥ fau afrrr (FauE-gd) A
fererifien #1852 B it fudiym TR IR
e

Waﬂ%ﬁaﬁﬁﬁm&@aﬁﬁzﬁﬁw
T2

®)
o
©)

(A) T ¥, 9 (R) T § |
(A) T &, W (R) TR B

(A) 3R (R) 3 T T R (R), (&) F
e =T B

(A) 3R (R) <A TE € TG (R), (&) F
TE e TE B

4)

S o for o AT AR S1E Wil it
7

_ty 1868
(2) 1871
@)
“)

1854

1862

R2 .
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‘In Harappan Civilization exchanges were
ecise system of weights,

regulated by a Pr
o made of a stone called chert and
1, with no markings.’

bove statement what do

83.

usually
generally cubica
In the light of the 8
the Harappan weights indicate ?

(a) Lower denominations of weights were
binary.

Higher denominations followed the

(b)

decimal system.

Smaller weights were probably used for

weighing jewellery and beads.

(d) Metal scale-pans are missing from
Harappan sites.

Choose the correct answer from the code

(©)

given below :

1) () (b) and ()
(2) (), (¢) and (d)
(3) (@) and (b) only
(4) (a) and (c) only

Consider the following statements about the
revolt of 1857 :

Assertion (A) :

Bahadur Shah was recognised as the
Emperor by all rebel leaders. Coins were
struck and orders were issued in his name.
Reason (R} :

The merchants, intelligentsia and Indian
rulers mostly not only kept aloof, but actively
supported the British.
Select the correct answer from the code given

84.

below :

(1) (A) is true and (R) is false.

(2) (A) is false and (R) is true.

(3) Both (A) and (R) are true, and (R)

explains (A).

(4) Both (A) and (R) are true, but (R) does

83.

not explain (A).

mE
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<ol AT S e WO i e 2y

O

S A T T e ST ST A

=1 drer o ferg feham Stwar @l

(@ e i & vig & o T
firera €1

9 g MY T W EE T WA FAG

(b)
(©

1 () b) F©
@ () (@ IR (@
(3) e (a) 3 (b)
(4) o (a) 3 (0)

1857 3 fogre & =iy § Fretfarea wol o foem

HIFT

AR (A) :

off faeidt el 3 SRIgT W@ I ST WAL

A ST T S e e T iR SRy S
ferg i

Tk (R)

it =T, fagml ol wwdE TRl A A
Yoot o Wi orer T, fyg Seie fafe @

wfwa T 9§ wam fean)

o T e W W& SW KT HIW :

(1) (A) & 3R (R) e €1

(2) (A) T ¥ SR (R) R 2

(B) (A) o (R) IF W ¥ ol (R), (&) F
ST T & |

@) (a) oK (R) 3 T@ T Fhg (R), (A) T
ST 7 Rl § |
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2 - 4 years old (Balvatika)
g-Gyearsolg (Anganya

_@ AN di/ Pre-School/
0 4 - 8 years old (Clags q and 2)

(d) 6 - 8 years oldl (Class 1 ang 2)

ijz f:r t:he correct answer from the code given
@) () and (9

7 (b) and (d)

6 @ and (b)

@ @ and ()

i In NEP 2020 the responsibility of Early
Childhood Care and Education shﬁll be
delivered through which of the following
Farly Childhood Education institutions ?

@)
()

Stand-alone Anganwadis

Anganwadis co-located with primary
schools

Pre-primary schools /sections co-located
" with existing primary schools

©

Stand-alone pre-schools

from the code given

(@
Select the correct answer
below :

) @), (c) and (d) only
@ @, ©), © @D

) (a) and (b) only

@) (@), () and (@ orlY

;;’-E'EHié__hnnn Pﬁaﬁm
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2 - 49d oY (STAANEH)

3.6 ot & <y (et -/
ATeTetest)

(©) 4-8=d =g (Fen1 L 2)
&) 6-8 ¢ = 39 (a1 2 2)
R fow Ty e & W SO H T G, :

(1) (b) &R ()
AT (b) ¥l ()
@) (a) 3 (b)
@ (@) IR ()

T e i, 2020 H W AR AT
i fren e =0 w) fordied fretarey 3 9
g T STcareen e e & meEm 9
T2
(a)
(b)

erfiyer Torer 5 e fiem sTHenteat

(c) Yd-wufA® feremeral /ada wTafHes

el & e feem svimenfeat
(@ oRRdl = T -t e
9 fou T e A WE SW H WA KIS :

(1) e (b), (©) I (d) ™S
@ (@ ©)© @

(3) % (a) 3 ()

(@) Fa (@), ©) T
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87.

88.

Consider the following statements :
Assertion (A) :

The amara-nayaka system was a major
political innovation of the Vijayanagara
empire. The amara-nayakas were military
commanders who were given territories to
govern by the raya.

Reason (R) :

The contingents of the anara-nayaka provided
the Vijayanagara Kings with an effective
fighting force. ¥
Choose the correct answer from the code

given below :

(1) (A) is true, but (R) is false.

(2) (A) is false, but (R) is true.

(3) Both (A) and (R) are true, and (R)
explains (A). >

(4) Both (A) and (R) are true, but (R) does

not explain (A).

Consider the following statements :
Assertion (A) :

The Civil rebellions began as British rule was
established in Bengal and Bihar. From 1763-
1856 there were motre than forty major
rebellions apart from hundreds of minor
ones. Sanyasi rebellion was the first to rise
up.

Reason (R) :

These almost continuous rebellions were
massive in their totality, but were wholly
local in their spread and isolated from each
other.

Select the correct answer from the code given
below :

(1) (A) is true and (R) is false.

(2) (A) is false and (R) is true.

(3) Both (A) and (R) are true, and (R)
explains (A).

Both (A) and (R) are true, but (R) does
not explain (A). '

4)

Ey3EE
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I

i S 'S OT eras, .
i i'eﬁﬂa,l yeain S-Many different eras were

< e foﬂowi.ng statements'g%l

| {a)

)
6

0

)

)

0

+(d)

o 4 cieﬂt inscriptions are usually dated -

‘é}correct ?
S
The Kalachuyi -

248 CE.

The Gupta era staﬁsfﬁbm 319-20 CE
The Chalukya - Vikrgin w -
Vel
‘L era of 1076 was

ed in the i s T
usee Jioin: mscrlpjlons of Karnataka
and ‘a ]0]111ng area’g,ié”g

Che_d"i'z era starts from

)

)
@

(d) The I.(oll:ar era of 824 was used in the
_inscriptions of Kerala a

nd adjoini
“ parts of Tamnil Nady, adjoimning

Choose the correct answer from the code
given below :

(b) only

(4 (a) and (b) only

‘The planning and imple:‘éirjitation of Early
Childhood Care and Education curriculum
in NEP 2020 will be carriéd out by which of
the following Ministries/departments ?

Ministry of Education (erstwhile HRD)

Women and Child Development
Health and Famﬂy?zveya;e
Tribal Affairs = %

©).

Select the correct answer
below -

(@), (b) and (c) only:.i
@), ), ©, (@

(2)
(a) and (b) only

39

90.
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Google Play
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(©)
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3R e =t S IR e S S ™
Trefafes ® @ T d=emn/ faurt g1 e
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() Toen #ore@ (q@ § Ama e o
HAH)

afgen iR o fasm

(c) TaTed iR TRER Heam

(d) S FE

H= fou U F [ TE W HHH Hife

(b)

(1) e (a), (b) 3 (0)

_er” @, 0, © @

@) 9 (a)
(4) ¥ (a) 3 (b)
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91. NEP 2020 aims to achieve universal
foundational literacy and numeracy in
primary schools by :

(1) 2028
(2) 2030
3) 2024
(4) 2025

92. Which of the following National Assessment
Centres for school education is proposed to
be established as a standard-setting body
under Ministry of Education (Former MHRD)
by NEP 2020 ?

(1) NAS
(2) NTA
(3) PARAKH
(4) SAS

93. The decline and the fall of the Roman empu'e
in 1776 was written by :

(1) Edward Gibbon
(2) Voltaire

(3) David Hume

(4) William Robertson

94. Which of the following sites is known with
first ever evidence of canal irrigation ?

(1) Dholavira
(2) Shortughai
(3) Harappa

92. .

(4) Mohenjodaro

EHEE
PGT-HIS-2023 Eai
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94.
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Google Play
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rrange the f0110w
& 3'A in ch g Stages of th

Ooman
: al ordey , 5. Tmy Arary = N
B Principate Ihmi‘al‘@.a STaE1
' (l) B FITHATER Srafeer HT :
(i) Republie,.... ®
@) tate emiﬁf'“ @) o
(1V) K]ngd()]_n; B (iii) I
choose the correct (iv) wTeumE T
iven bel
= o T o T e @ e R
0 |
3 2) (i), (i), @v), (i) . . (1) (i), (i), (i), (iv)
@ @) @), 6, @y @) @), (), (v), i)
® @6 @ © ), @, @ )

r}.I

I! A "'JH b
]r FI||

(), ), (i), 6

%, Nineveh Was‘a,zty of ancient Assyria is
located on the*

96. T el ereifian =t e R on, S fea ¥

(1) Eastern b§Iﬂ< of Euphrates Ri\lxer

(1) IheE =S & U 92 W)
) Zhew & ¥ i T W
(@) <ERE T % 9E 9 W)
4) e T % ol T W

2) Western"barik of Euphrates River

IHIHI

(3) Eastern bank of Tigris River

(4) Western bank of Tigris River

7. The inscriptions with evidence of Indo- | 97. T % & | Tera- 2= Wi sy et tfvrera

E“IOPean language from Roman areas belong Frerofon B frg v Q Tt $2
t° which of thefo'ﬂowmg century ? -
(1) - (1) 1600 % ¢
) (2) 1400 < ¥ %
) (3) 2100 st &t ¥
g ( (@) 1900 < ¥ ¥
4) |

= ' " R2
L Ei3E a1
..._._pGT-L“C.\ L fﬁ'ﬁ%&fiﬁ 5
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98.

99.

100.

' built baths and commodious houses of the

PGT-HIS-2023 5

Arrange the following Harappan sites in
order of their beginning of excavations.

() Lothal
(id)
(i)
(iv)
Choose the correct answer from the code
given below :

Kalibanga
Dholavira

Harappa

@) @), (), (), () |

(2) (1), (i), @v), @)

@) @), (v), (), (i)
(iv), (i), (i), (i)

4
In which of the following millennium BCE
agriculture became a common knowledge for
food in Mesopotamia ? -

(1) 8000 BCE
(2) 7000 BCE
(3) 10000 BCE
(4) 9000 BCE

“There is nothing that we know in pre-
historic Egypt or Mesopotamia or anywhere
else in Western Asia to compare with the well

citizens of Mohenjodaro”,

Who made this statement ?

99.

(1) B.B. Lal

(2) MS. Vats

(3) John Marshall
(4) R.D. Banerji

o
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© among the | 107, mwﬁqﬁmﬁﬁﬁﬁﬂwﬁw

4 113 od Acharya Bhadrabahulfov;o;ll:;‘:: M (- Breet) o st ﬂ:’:ﬂﬁ'ﬂz
et ’ ‘ R Y qu FACH BT e
.(ﬂ Chandragupta Mayry, . "
g wome i
[3) pimbisara (2) fogmr
. Ajatasatru ®)  fafam

(4)  srwm

ousing Saka-Satavahang period exc'hange

L4 iafe of Suvarna to Sjlye, Karshapana in 102. ?émﬁgmmﬁw 2 a0 =l & ROl
Deccan Was : e ot -
m 2% (1) 1:30
@ 1% (Bl - 35
g 18 @) 1:15
o 1 @ 1:20

i3, Which one of the following statements

103. Tw T gerdt ¥ wed ¥ Frafafea 4 4

regarding the Gupta queen Dhruvadevi is not HlA-T HIH el TG &2
correct ? ;
(1) She was the mother of Kumaragupta (1) =% FHARTS i A o)
() She was the mother of Prabhawati - (2) O WHIE! T ) =G o |
gupta
-+(8) She was the wife of Ramagupta (3) 9% THIW 1 T ot
%4 She was the wife of Chandragupta-II (4) =R =R fEdiE el ot

04 Which of the following sites has produced | 104. frfates § & f5a ww | T ﬂg}aﬂaﬁ

evidence of horse from the first half of the ot E % e WS I e fyet €2
second millennium BCE ?
(1) Banawali | ) S
®) Piraq | @) T
©) Harappa @) =
: (4) Mohenjodaro @ )

e oo
"WH15. 2023 5’%% + He
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GET IT ON
Google Play

i 5 R SR .
105. On which of the following Asokan inscriptionis § 105 T AT TR T R ¥ 2 o
~ his personal name Asoka occurs ? o Tﬂ-ﬂ :
(i) Gujarra i e
(i) Maski e
(i) Nittur o) :
(iv)" "Udegolam () B = TR R .
Select the correct answer from the code given iﬂ%ﬁ? = R
below.,

106.

1077

The Brahmayajna included in the list of five

(1) (), (ii) and (iii) only
) (), ), (i) and: (iv)
() (i) only

(@) (i) and: (i) only-

In the Allahabad Stone Pillar Inscription who
among the following is/are mentioned~as
“Mahadandanayaka”.

(i) Dhruvabhuti
(i) Hastivarman
(iii) ‘Tilabhatta:

(iv) Vyaghraraja

Choose the. correct answer from the code
given below.

(1) (i) and (iii) only
(2) (i) and(iv) only
(3) (@) only "

(4) (i) and (iii) only

Mahayajnas signifies :
(1) The study of Vedic lore

(2) Giving fruits, roots and food to

Lo @), (), (i) v
(3) e (i) -
(4) e (i) ()

106. FreAfafed § § H-SARER TRR W9 3y §
‘eETeaE O Ffv R/

@ ¥
() e
(i) foewg
(iv) =AEUS
= 5 T FE A W W w
IS |
(1) e (i) AR () -

| 2) FEA (@) AR-([v) -

(3) F=A (1)
@) FFE (i) TR ()

107. 9= WRRE A g seem & aad ©

(1) afes Tl =1 e
(2) wfafe sewol = wo-ge T s

Brahamanas everyday
(3) Sacrifice in favour of Brahma

(4) Meditation on Brahma, the ultimate
reality

By—sem % fou ag
(4) THTE o= w1 SEH

E3E
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.....

o

@ King Parikshjt,

@
@
()
@

Vaishali
Sravast
Varanasi

Kapilavastu

40, Which of the fO]JOWi.ng texts gives evidence

of the prevalence of polyandry in early
societies ?

Ramayana
Mahabharata
Buddhacharita
(iv) Divyavadana

ode
Choose the correct answer from the ¢

._given below :
() @), (i) and (iii) only
@ (), (), (i) and @)

GET IT ON
Google Play
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HT :
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e (i)
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HEHRd -

&)

B
@) (i) only

iR e
iP..G..T‘Hlﬂ LYY fg‘%’;ﬁ

(i) only

(4)
" R2
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e

111. Which of the following inscriptions mentions

the Mahabharata as a Satasahasri Samhita ?
(1) Khoh Copper-plate of Maharaja
Sankshobha, Year 209

Khoh Copper-plate of Maharaja
Jayanatha, Year 177

Khoh Copper-plate of Maharaja
Sarvanatha, Year 214

Khoh Copper-plate of Maharaja

Hastin, Year 163

(2)
3)

4

112. The relics of Sariputra and Mahamoggallana,
the disciples of the Buddha, are said to have

been placed in :

(1) Amaravati Stupa
(2) Bharahut Stupa

(3) Sanchi Stupa No. 1
(4) Sanchi Stupa No. 3

113. Who among the following expounded the
concept of Wahdat al-Wujud (Unity of Being) ?
(1) AlJunaid
(2) Al-Ghazali
(3) Ibn al-Arabi
(4) Al-Mamun

114. Which of the following are Jain sects ?
(i) Mahisasaka '
(i) Vatsiputriya
(iii) Kurchaka
(iv) Yapaniya
Select the correct answer from the code given
below :
(1) (@)and (i) only
(2) (iii) and (iv) only
(3) () and (i) only

GET IT ON
Google Play

e ¥ ¥ BH-m
111. ﬁqﬁf@ﬂﬁﬁgﬁm%wﬁaﬁhmgm%
W grrST SN BT TN T, 7 54

@ Wmﬂﬁﬁﬁ{m,wlw

o) Wmam@‘@m,aﬂm

(4) Wmm@gw; 9 163

fyrodi TR T FRIHITICAM % Wity

2. I&F Byl
H e & 2 e whfR T R

(relics)
e
HEd W

g w9 gEA 1
Fi WA GE 3

1)
2)
€)
@)

113, SR - IR () T RO 3 Hfe
HE 972
(1) oI
(2) STA-TISIE
(3) =1 AA-IRS
(4) STA-HEd

114. Frefenag § Q&9 SF T €2
() HEIRIEH
(H) A
(i) FE
(iv) AT
F fe T g ) e & W I A T
Hifere : _
e (i) A (i)
Fee (iil) 3R (iv)
<heret (i) ST (i)

(1)
2)
@)

() (i) and (iii) only's

ofF
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115-'ﬁ31ﬁ-rﬁgaﬁ'@rféfﬁﬁ(ﬁf‘?fm@ﬂ@m- ' ‘
.__,"g-a.fnkarshlana ? B SR 9 Rftas S aRifatEE a 72 |
. pddiistien Niddeggir .
_-":_.-_'"'; _ : 'GhOS‘l.ll'ldj. il'lSCripﬁo g*“'*- i (l) % ﬁﬂ ﬁ%‘g
z (11) A og‘lglhg SarVatata . 3‘-{\’"1413'1@
i ; Nanaghat cave Mserip gy (i)  on ek < =gUel
i (ﬂj ) i%}.‘l}o‘f Naganika

'(Iiv) | Coins of Agathoclese -

i
el
=

(iii) iRt @ AR TR GG |
(iv) sTmelveritst & faesr : '

choos€ the correct ANSWer_fidm the “cod
_fro; 5

_givenbelow: ~ ﬁmﬁﬁaaﬂmﬁﬂﬁﬁiﬂw
g (@) @) and (@) onty TQW o

@ O @) ) and ) 8 ) (i), (i) SR (iv)

g (@) and () only | @) (), ), (i) @R (iv)

(3) Faa (i) 2R (i)

. oy (@) o (i) o (i)

. M'atdl List-I with List-II argci:select correct

116. o1 1 e & e e o = T
answer from the code giveribelow.

m@ﬁmﬁﬁmmwﬁﬁw

List-I w2 Listdl ,' -1 G-I
(Inscription) :; (Réligion) : (=rfeE ) (=)
(a) Mathura Pillar :1_1)_2 Jaina ' () W—W weE () K
. Inscription of = | T WA e
Chandragupta-Il = = ~
#) Sanchi Inscription of (i) Baudha (b) -G weE @ W
. Chandragupta-II | T S
' (c) Mandasor Inscription (iii) Pasupata - © %@;ﬁ%ﬁ (ﬁi)-\ AR
of Kumaragupta-I ) _ y
(@ Kahauma Inscription i¥ s Saura (d) :‘;ﬁ'ﬁq@gw M ({v) WX
‘of Skandagupta fﬁ -
Cles R @ ® @ @

O @) @ @ O

(1) (i) (i) (iv) @) —= l @ @) @) (v) (i)
O @ @ o # @ @ @ @
O 0 @

@ @) © @ &
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117. Who among the following was the earliest
woman sufi in India mentioned in
Akhabar al-Akhyar ?

(1) Bibi Sara
(2) Bibi Rasti
(3) Bibi Fatima Sam
(4)  Bibi Sharifa
118. Match List-I with List-II aﬁd select the
correct answer from the code given below :
List-I List-II
(Writer) (Sufi Work)
(@) Abdul Haqq (iy Fawaid
Muhaddis Dehlawi al-Fuad
(b) Amir Hasan Sijzi (i) Siyar al-Awliya
C ami ndar 1ui) Khair al-Majalis
(¢) Hamid Qaland (iid) Khair al-Majal
(d) Amir Khwurd (iv) Akhabar al-
~ Akhyar
Code :
(@) (b) () (d)

1) @) @@ @ @)

(2 (@) @ @) @

@ (v @ @) @

(4) (@) @) @) (@)

3
PGT-HIS-2023 52 48
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117- Wﬁmzmﬁv W‘gﬂ
1) ﬂ‘ff
@ T
) ﬂﬁ"\’ﬂ‘“

118. g% ?@@g{;ﬁ%ﬁ@ %
_W-I L i
((—,}@a;)_% 'I(Wﬁa)_

@ FEEEE () e

DA ¢

) o ‘ﬁ"ﬁfﬁ“_"ﬁ o -

© gqﬁam‘gf—; )RR TR

@) aaﬁlwg': (iv) STEER -

. HEAR
He :
| CRCHCINC
o o O @
& G5H © o
® 6D @ o
@ ()-=(n) @) @)

R
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i ;,ijter*‘“”“.g S::CE? terms in the seventeenth 113, ‘F‘T-I ¥ srfrerd o ) TR A il ::ﬁ‘f::{
L ptory 8O IR LIS g S SR e a e 0 L

; 180 th ose the correct B e 2t & ke
Sk el frO;Il © code given below the lists : T iz 3 Y et e B A
List- '
: L‘ =
- (rocal Terms) (Illztg:lon) -1 11
) Khots and )  Rajastha . ) (W@"")
i Muqadflams 2 (@) @ IR gepen (i)
o Satarali and (i) s

gtk (b) ww el et ) T

i/Bliuumia

© Bhomi/B ) Bogh

.(d) Banth/Vanth (iv) AV:;dh (2 ’ﬂﬁT/“ﬁﬁ?ﬂT (1-11) 2reATe
© Code: (d) wa/4a (iv) aH

@ ® © (@ %=

o @ &7 0 @ @ ®) © @

p @ @ @ @ fgf” @ @ 6 O

) W) (1) @ @@ (3; (T") ({Jl) (1{) (Q_

@ @) @) @ @) @ @ @)

| @ @ @ @ o
0. A rapid courier system established by

Chengiz Khan was known as : 120, Tmmwzﬁwmﬁﬁwm
(1) Qubcur r(‘l')/ :
@ Yam | (2) =
() Gerege L
(4) Anda w | sis
121. Who among the following compiled Dadu’s | 121. T=fafed § | foaq EI‘;{\E T SR e,
hymns and poems known as Banis ?  » % T et ST S, 1 Hepfer fonan 2
() Tila Jat (i) foen s
() Mohan Daftari (i) T SRA
(i) Rajjab Das (i) TETE
(iv) Sundar Das the younger (v) gR T fgaw
Choose the correct answer from the code T fEU T He W TR TR BT ST
given below : :
(1) (i) and (iv) only /6‘)/51_‘"?‘ m _@T &)
@ ), @), (i) and (V) @ (@), @), (i) AR @)
B iy : () ¥ (i)
G) (iii) only
@ (4) e (iv)
; 4 (iv) only

P ’ E . "E I R'
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122. Which one of the following statements about
Vallabha sampradaya in the Mathura region
is NOT correct ?

(1) Radha was made predominant in
Vallabha system by Vitthalnath

(2) Vallabha established a centre at Gokul
where he gathered a group of singers
and poets known as Ashi-chiap

(8) Vallabha established Srinath temple at

Govardhan Hill
(4) Vallabha almost ignored Radha

123. Who among the following was the first

Mongol II-Khanid ruler to convert to Islam ?
(1) Jochi

() Guyuk

(3) Ghazan Khan

(4) Qublai Khan

Assembly by Mongol chieftains was known
as :

1)
)
@)
Q)

124.

Ulus
Tama
Quriltai

Qa’an

Who among the following travellers mentions
“Mahanavami Dibba’ as “House of Victory” ?

125.

(1) Nicolo Conti

(2) Fernao Nuniz
(3) . Domingo Paes
(4) Abdur Razzaq

E3E
PGT-HIS-2023 rﬂ%
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g B e WIS % A Frfg o,
122. ;g?quaqﬂ%) . ﬁ'{]
Fargerer T o™ W H ey
LRy R
@ aﬁﬂ%?ﬁﬁﬂﬁ@%ﬁ%ﬁ%ﬁ
iR ehferdl =l T T8 THA Tk
3) ety 3 T e T A SR ) gy
=1 ot |

Mawnﬁumaﬁm:@aﬂaﬁl

123. Toefated ¥ & w99 N ATH Aiew vy
it Se-@THl e i o172

(1) S
(2 TIF
Mﬂﬁ?{@ﬁ
(4) FoeR G

124. HTe TEER =t TR 31 =1 el Al 91 2

(1) <@
(2) @
A3 e

4) e

125, Frefafes ¥ ¥ frg ach ¥ ‘weEad fean' &
oo 1 e R R ?

(1) e =t
(2) wEisl s
A3 it
(4) T TTH
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,,Iglf‘ dia the postal syster 45 o two kind
B horse-POSt called ulug, is run by ro si
horses stationed at a distapce of every f .
T The foot-post hag tl oo

aree statj
| gil i calied davn, 11 o tions per
C e at1s one third of 5

g , ﬁle"',

Ideﬂﬁf" the narrator traveller,
. Francois Bernier
puarte Barbosa
Al-Biruni
[bn Battuta

e, nsider the following statements :

0 Hampi is the t.i“}’ hamlet grew around
the Pampapati temple on the southern
pank of Tungabhadra.

(i) The town of Anegundi formed the
northern outpost of the city of
Vijayanagara while Kampli was its
easternmost outpost.

The town of Hospet was built by
Krishnadevaraya in honour of Nagala
Devi and named after her Nagalﬁfaura
which remained his favourite residgnce
all through.

About the roadway between the inner
citadel at Hampi and the suburb of
Nagalapura, Domingo Paes records
that it was ‘a street as wide as a place
of tourney with both sides lined rows
~ of houses and shops.’

Choose the correct answer from the code
given below :

(1) (i), (iii) and (iv) only

@ (), (i), (i) and ()

@) (iv) only

) (i) and (iv) only C o

- Pican,
WHIS-2023 E%ﬁ

51
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126, ‘' & 3 yepr Y IR AN s

wmwwmﬁﬁwtﬁaaﬁ@
mwﬁawﬁaﬁf@fﬁmwﬁgﬁl"ﬂﬁa
mw%gﬁ%ﬁqwm'@ﬁ%ﬁ
?Wm%afﬁﬂg‘ﬂamwﬂmm
lll

e =it ) T i

(1) A sfeR

(2) 3 arEE

() =T

AT

127. Trefafas o W faem FINT :

() e g e 3 e AT T A
it 3 srgurE o Th BIg | A ¢ |

(i) o v fasEAR weX 1 sad HH
<t oft SreifeR iR TaeR e S
o} |

e Tt o Tl FeReTE AT
i ¥ gmE A S 91 3R SEe A
m@mﬁmmmﬁaﬁm
T @ |

@

vt 3 iR et i ATETR TR
e wew wrl AR H SAHT 9E aE
ol =t ¥ fo e S stvam witeror
SR T S WE UH Are! aew ot S
ST 2R T SR gHEl i dieaeg A
et

<A o T 2 N W SR HIC -

(iv)

(1) e (i), (i) 3 (iv)
@ () (i), (i) 3 @v)
5y e (i)

(&) e (i) I ()
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128. “In India a village must be very small indeed
if it has not a money changer called a shroff”.
Identify the narrator-traveller.

(1) Jean Baptiste Tavernier
(2) Sir Thomas Roe

(3) Duarte Barbosa

(4) Ralph Fitch

129. Shah Jahan openly favoured his eldest son
Dara Shukoh. At the cost of 32 lakh rupees
more than the Mughals had ever spent on 2
wedding the royal family put on such
spectacle. According to European observer,
the awe inspiring firework display stretched
half a mile across the Agra sky. Identify the
observer.

(1) Peter Mundy
(2) Jean Baptiste Tavernier
(3) Francois Bernier

(4) Jean de Thevenot

130. Which one of the following missionaries was
sent by the Portuguese to propagate

Christianity in Bengal ?
(1) Sebastian Manrique
(2) Father Thomas Stephens

(3) Rudolph Acquaviva

GET ITON
Google Play

e X G T TS T AT Ty
ol 32 @ Tl ¥ SAfeeR oA S 3 TR
ﬁ@-ﬁwwﬂswm%m
e T T g o, el R @ R
o\ TR T Jeew e o R U
nﬁaqw,aqrmas A § erfosE
a7 yag AT A | E e A )

129.

) e w
@ s

130.@@@@%%@@%@
st Sard onf  WER e o S T A
(1) Safea A i =
(2) TRIER Y W ' L
(3) TeITH wEEae

(4) John Mildenhall
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PART - VI
T GENERAL ENGLISH
131 tFl:]i lllw;llleof ;1‘1:&111: ﬂ‘e’fouogvillﬁg sentence with ; 136. Choose the option in which the following
' ' The train was al OPtions. P 3 words/ phrases have been rearranged to form P
Tuttn lea?eat'ﬁe station when a correct sentence. I e AN i
we ____ there = ; ) P
1) reached - - ) (A) people gave himsuf
(1) iiﬁ (B) President
(2) have reacheq o (©) him support
had reacheq WA (D) him
(4) would reach == (E) haviﬂﬁf_l_‘i‘itf-d-
— Qo) @ O ((g%
) . i Sy 1E}| !p)f (.. L S 3
- 132. Chotose t}l:e Epnon In which the following /%‘ (A) (O), ,(B_L_@,_.(D)j
sentence as been changed inge passive voice. @) (B).(D), ©) (E), (&) )X
His attitude vexes me Sometimes. - r '
(1) Lam vexed at his attitude. o |

+ Directions for question number 137 and 138 :
(2) Iam SOmetimes vexed

at his attitude | Fill in the blanks in the following sentences with the
(3) lam vexed by his attitude: help of options that follow each of them.

« Tam vexed by his atléi_EuG;e sometimes.

137. Can you tell me how theaccident _ ?
B o (1) came up
Directions for question_numbe%}lfs to 135 : (2) came by
Fill in the blank in each of the folloTg sentences with _A2rcame down
the help of given options. ~ £33 (4) came about -
S ' 138. The witness will what I have said.
133. Nitin as well as his friend-Rafn : (1) Dbear out
coming to the party. = (2) bear with -
(1) were & = (3)  bear on
(2) have been hpdill «4]" bear up o
ﬁ/ ' : 139. The troops were ordered to mobilise .
(4) are - * Choose the word which is nearly opposite in
134. Today, the need of common man ___ meaning to the underlined word.
just bread and butter. , (1) convene
-(1) Gy ' » (2) lineup
@ we B ) et
1 v
s g
(4) are

(140, JHe delivered the speech with great aplomb
|

., . Which of the following words can correctly
135. Mrs. Kanwal is _____ sRfincipal of this replace the underlined word in the above
schoo ' iy sentence ?
tha . TR El% prrehension
& . 2 isquiet =~
g) 80 ahicle 7T (3) diffidence B
) a e _ {4) confidence «
(4) an . L

r . Em 53 | S
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PART - VI

GENERAL HINDI 57

WY W 141 ¥ 143 % o frder o mﬁ@ﬁﬁmmmﬁ%
ﬁ‘ﬂ%ﬁﬁﬁ'mﬁm@%wmaﬁmﬁaw @ e
mmﬁﬂﬁmaﬂﬁﬂ?mmﬁqﬁﬂmﬁ €) m_f'.ég
T ool g W w1 W W R 9% wee § weon 4) EE"“
A T ot SO T S-S e s dm A | e ﬁmﬁrﬁgﬁﬁ’%ﬁmﬂmﬁ-ﬂ’ﬁ'ﬁ T
Eren & - sifesh FE E S A A He ¢ ) @S
wga W sinfew wunell § 9% AW fer W § 2y TA-EE
Tt gl 3 e SO IR FEE ght o 79 A (@) T
FETERI aﬂnﬁﬂﬁﬁwﬁmmmﬂéamaﬂt @) T
T A B © A _ '
147, ‘e H T AR W B el % T w
141. ﬁmaﬁvﬁmmmvéﬁmaﬂtwqﬁ . TR -
B e () HEE
(1) IS SEyeEl S @) a;__;gqm o e
(2) e AIfaEl Wi
(3) o | S (4) T[rffﬂ?:"
i el 145, FreafE- a7 g & e TR E
142. T9 T FEON HI AT T T FHEON T Lg;ﬁ?’lj“=
(1) TEREAIE! o =
(2) TifeeRt TR BT R ) @
427 FAE T e . _ ._
@ FrEEmE 149, Frefafes ¥ ot s o= e
(1) TS Y
143, O HT I T A FTON DA AG HA € 2 (2SR
Sy forE TR HEO S S (8) T
@) o | @ W
B) TG . 150. Frefarga d walt w1 wEEerE T T
(4) TIQg (1) “-"ujqa‘{
R . . e
144, ' 7R %1 GUA TR 1 HEE I T 'g‘ =
o e @ ‘e
(2) Tegm = g s |
,(3«)/1{@3&@6 -~-00o0-
) g =R kB
24 | St Tl e sz.
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